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Part III

2 ullifluée / BIOLOGY
( sl woHoId Symdler eufl / Tamil & English Versions )

Cmyd : 3 wewon | _ _ [ Qurss wHLICUETSeT : 150
Time Allowed : 3 Hours | : [ Maximum Marks : 150
a;ﬂa;mg' : SeoarsHg olanmssEpd sflurs Ldleurd) 2 etensT areTUGmer SlLMT 56

Qaretarayd. S&aiLglaler @mmuﬁl@u!ﬁ]m DD  SESvTSTellLTeniLb
2 | enqurss Csflaléseayb.

Instruction : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor unmediately

efliy : UG - 1 sragaluoeyd, UGS - II aﬂmmaﬂmmmum ggasﬂg_,gso‘ﬂ
: aleL_gsrefléer aleoL wallssmab.

N.B.: Candidates should answer Part — I ( Botany ) & Part — II ( Zoology ) in
separate answer-books. '

ued - I (sreuyaiué) / PART -1 ( BOTANY )
(LU SsT : 75) / ( Marks : 75 )
Mifley - < | SECTION - A
el : 1) Sjoarss alamés@hsGn aﬁleml_weiﬂés&:mfb.
ii) sflurer el ws CortbsHSE! eT(RSHND.

Note: i) Answer all the questions.

ii) Choose and write the correct answer. 14 x1 =14

1. &reen $l& seor® whmid Ceurms suéﬁri'&é]u.lmx_ufo SHper @)eleurnl o P&HeULEHD

<) wsSpss CuibpisieTenio <) Capur® Hiflsd
@) wnCanuT® L6 ' #) GeupumenLge.
The ability of the callus to develop 1ﬁto shoot or root is called as
a) Totipotency i b) Dedifferentiation
c) Redifferentiation d) Differentiation.
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€ &r%p[béhﬁ}é\), aitleur@ CO, BHleven ﬁggguu@ggua@a Q&mm@a’&,uu@m
%mmmaaﬂw ermszscﬂmem&,

._gq) 3 ATP wpnio 2NADPH,, ; <) 9 ATP wpmib 6NADPH,
@) 2 ATP wpmip 2NADPH, ~ ®) 6ATPwppid 6NADPH,.
The energy consumed for every carbon ﬁxatic;n in Cs-cycle is

a) 3 ATP and 2NADPH, b) 9 ATP and 6NADPH2

¢) 2ATPand . 2NADPH, : | d) 6 ATP and 6NADPH, .

Hoeabardfledlesr ehs wp oloaler Gurs seTiQUIGST  UTduLMEyaDID
heoL QuniSng) 2

<) Uy&GLmev 6 umenGul, ugéa&-_rre‘m_ 1, 6 v LTevBLL L s b Qurps
aﬁ,). 3-ureuGurdleRafs <yblevd, 2-urevGurdleflsNé oufleunrs Lorrgg;a‘u

@) 1.8 dlev urevGurr Heflefls oufleud, 3-urevCur fefafls opfleunms wrmise
7) Seflegmigeman® 3-urevGul, 1, 3 e urevCur Heflafs SjblevinTs wITMISE.
In Glycoly51s substrate level phosphorylanon occurs cluring the conversion of
a) Fructose 6 P to Fructose 1, 6 BP

b) 3-phosphoglyceric acid to Z-phosphoglyceric acid .

c) 1, 3 bisphosphoglyceric acid to 3-phosphoglyceric acid

d) Glycerald__ehyde’3-phosphate tol, 3 bisphosphoglyceric acid.

saflaer uepLLSe FALED enTiGure

<) glurlerser | <) sdle

Q) s CLreseear F)  ergdleles.

The hormone involved in ripening of fruits is

a) Gibberellins b) Auxin

c) Cytokinin ' .d) Ethylene.



[

3 : 8240

Quisd wHnD arP&eT asLLTLRe, $6p Qer@ssuul@srer aflerasaie
4 sieopseeryd 24 GHbLRSETUD 2 6TeT SIS '

=) gaudlcoGerrCy _ <) GantigCrmSCy -
@) eousTTGlLelGL #) &reldlceyCermCry.

in Bentham and Hooker’s system of classification, which of the following series
includes 4 orders and 24 families ? i

a) Disciflorae b) Heteromerae

c¢) Bicarpellatae d) Calyciflorae.
12-0u5 2fle 2 08 sTauralud gL b B CUDD %m@

=) 1930 ' : @) 1975

@) 1978 | ) 1925.

The twelftil Intemationél Botanical Congress was held in the year
a) 1930 ' | b 1975

o 1978 | Q) 1925,

&Gy e euLmiélodLCermyen srasHe EEH s

) urafsder | ; | .Q;,). & & WSS

@)I GaL_&lebr ' | F) salss Crdh.

The type of mﬂorescénce in croton sparsiflorus is

a) panicle b) . éyathium

¢) catkin - _ ' d) simple raceme.
S® alsdons sTanhseils &HreoluLTS sl

D) - ERREILS GPTUSST 2l) g Gleovael
@)- mead GUTLser - . F) couGenmud LTSN, -
Which of the following tissues is absent in monocots 2

a) Sieve tubes ' b} Companion cells

c) Vessels d) Phloem parenchyma.
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9.

10.

11.

sM&EH@T@WS STLQeId 100 LLkEG oids @elliysien Lyssos 2 HLSS Glgyo

SITeUTiD

<) OGluen_menflenrer gm Gy Flureor

<) Gasmer ﬂf_‘uy..rr

@) owseav uTyTS @@sﬁrﬂdv

#) GCsasrrarsen Curdla.

The plant that produces a protein 100 times aé sweet as sugar is

a) Pentadiplandra brqzieana b) Cola nitida

c) llex paraguriensis ' d) .Catharanthus roseus.
GWlenetest QUDLILGD STeurid

<) g melen | . . <) SaBsrerm

@) ulureut ) Leméen.

Quinine is extracted from

a) Digitalis ' | Al b) Cinchona

c¢) Papaver d) Panax.

6 alsdoas srarGafléd dueeler Qmeﬁﬂqp ENOLTG)

2 2&55Csréd %) Quiflens & dlair

Q) eswb F) ocoyGemmwid. =
The outermost layer of fhe stele in Monocot root is

a) Endodermis b)  Pericycle

c) Xylem - d) Phloem.
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&QyrBur@erbadt germcmend OCaTasIPeTena G@ILOS WSS (WHOITS 2 nid

Qe g et
2 Ceymameitgedr 1) aureGLwi
@) UM sperv ) G g6

The scientist who was the first to prove that the genes are carried on the

chromosome, is
a) Johannsen ; b)  Waldeyer
c) Bridges d) Bateson.

DNA @pligiungb Gurg, @yeor® Qeowsesd aughe 2 sab CBTs

@) Quevgféser Qprs o, 3y) QanelGaen

@) DNA LredlouwGrev 7)) ecoeGaen.

In DNA replication, which of the following enzymes unwinds the two strands ?

a) Restriction enzyme b) Helicase

c¢) DNA polymerase ~d) Ligase.

@Uss QeustemeTugmibaefle CUmBESSSS ST (D eetT Lomj)@g;g,rrs‘a'&@currééhj.l

Qummer
3 @)eLTQuyres . _ <) @eraede
@) Qrefler sGuUTEE g) @)L ielydle.

The genetically engineered product that stimulates the proliferation of WBCs is |

a) Interferon b) Insulin

Se) Renin inhibitors d) Interleukin.
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16.
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18.

19

20.

21.

22,

23.

24.
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Mfley - 2 /| SECTION - B

eoliy . gGgaib gap elanmésE@réss @b alleL wehébemeayb.

Note :  Answer any seven questions. 7x3 =21

BTeUy euendUUTL 6T CHTEahis e 6T(WH&Is.

Mention the objectives of classification.

QlameurGerél @ @ibL Ln@_{r)gcug sreufusel gGsaib sl @m QerhGuwt wHmKy
LIWEST &e06T S SH(HS . ] '

Mention the binomials and uses of any three medicinal plants of Solanaceae.

LTefGsl. LMFeTensLT WHmb  eoLmEhs) UFJ&TESLIAING Qe Guurer epestm

CoaumurHaemer erpgis.

Write three differences between the Palisade and Spongy parenchyma.
LSS &GS Sla&Heen eaeiiprey eresiet 2

Whét are lateral meristems 2

tRNA dlest UL eueonhgl LUTsRhemens GHldbeab.

Draw and label the parts of tRNA.

LUD&CHTHDLTSSD eresTmTed eredTen 2 611_66)&;565611 eleurf).

What is morphogenesis ? Describe the types.

Glecuedlesr DD Hreod erTiILGMIS 5 ? ST SiWsaILHaCHsT 7
What is an energy currency of a cell ? Why is it called so ?-

C3 whnib C, mgﬁ‘:ﬁg__@&.@éﬁeml_@u-_z 2 _eften CeupuTRsel ApeTHlema s S(HS.
Write three differences between C; and C, pathway.

(PeeT HHEHD TSTDTE 6TeoTeT ?

What is apical dominance ?

Qanl iy Crrélev ereipmey eredrent 7

What is heterosis ?
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Mfley - @) / SECTION - C

ey : 1) gCseb prarg olamsserde aloLwaésan. elem oo 25-5@
' sesorgLLre elleoLwellée Ceoustor@ib. '
i) Gomeuurar @Lkselé LLD aieyueaD.

Note : i) Answer any four questions including Question No. 25 which is .
compulsory.

ii) Draw diagrams wherever necessary. 4x5=20

uy 0> CumiIQué] GHbUSS T QUITHETTST] (PSSHIUSGEISOS T(DEIS .-

Give an account of _the economic importancg of the family Euphorbiaceae.
QBalsSHamed HTOITS &6worlg 65T sﬁrrs?u@enrrfr sheomeow aleu.

Write short notes on the vaséular bundles of the dicot sterﬁ.
@LbQuuiTse GCrrGurGeid LSh;n'_;sﬂsmu.l uLSgiLer edleurfl.
-Eixplam.translocation chromosomal aberration with the help of diagrams.
sraursde euetiifer LweTs el gCHEUD LBSlaT LGS -

Write any five appliéations of plant tissue culture.

s phHé urevufleyesid Lib) @rﬂaa QDT & .

Write short note on cyclic photophosphorylation.

SHruQyasigieL u gEseib mbe) eurpailuc cﬂeﬁasﬁm&;mm PGS

Write any five physiological effects of Gibberellins.

2 O 2 phiseflet g@g;@::o h&l HETTENDS NS H(BHE .

Write any five benefits of bio-fertilizers.

[ &lwriys / Turn over
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32.

33.

34.

35.

fley - & / SECTION - D

ey : 1) gCseud Q@ allaTé s Ehée el welsaab.
i) Gaemeuwrer @) msefe LLb QUEDITILEYD.

Note: i) Answer any two questions.

ii) Draw diagrams wherever necessary. “ . 2x10=20
Blyevr umpg eflursrelee soasQerpsared aflaifl. wefler Qu@TLLD auehHe
weoflest eumbiiLT@ erpays:.

Describe Musa paradisiaca in technical terms. Draw its floral diagram and write

the floral formula.

Qealsdlons sreuy Gauflear e Hlas oewliou aleuf]

Describe the primary structure of a dicot root.

sreurhiseiey LGyl GLmiletme @)ememiey cpevid  ereleuTm) 2 Lo selllannrssn
Bl&peng eretus afleuf.

Explain as to how protoplasmic fusion can bring about somatic hybridization in

plants.

glyten sphHiilée Bleuwn vpelomarsamer aleufl. ( alerdod S{VVG) UEITLILD ).

-Describe the sequence of reactions of Krebs cycle. ( Explanation or flowchart

cycle )
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ugd - 11 (eflobdlué ) / PART - II ( ZOOLOGY )
(wdQuasser : 75 ) / ( Marks : 75 )

fley - & / SECTION - A

Gl : 1) Soards eNaTésEnsED oﬂemLmaﬂéa&a;:yED.

i) eflurer el ows Coip@s@sal awsab.
Note : i) Answer all the questions.

i) Choose and write the correct answer.
Wse Waeller Peir GGerrefli Osligeaut/sef
<) umiugT w&efer CLré
<) Oanrur Guiut whmid evGesrell Gamranest
@) <. difléev whHoid 1. S .
) Os. @f'n_s&r wHoId Gurest afléooL.
The first gene cloning was done by
a) Barbara Meclintock
b) Hebelrt Bayer and Staniey Cohen
¢} R Brtggs. and T. King
d) J. Gurdon and [an Wilmut.
ﬂmuqu Sleow eueniéleng wmbm G
<) ©hp et Ser Crmid - 3)  eooTgBGL et Qamiflu
@) <eleiean F) seorsblum.
....... ersietesean 1S AT inb(-)rn error of metabolic diséase.
a) Bubble boy syndrome b) Huntington's chorea

c) Albinism d) Thalassemia.

8240

16x1 =16

[ SlLiys / Turn over
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3.

Qe su@;éptb @rﬂmwﬂpnﬁl@@g} Lh&EE HoLsEh DD Sfeey

2) 50 x10%° HGear &Geur <) 5x10%° HGar &Geurf]

@) 10x 520 fGeor 5B 7). 2x10%° ACer &Caurril.

The energy received by the earth from the sﬁn in each year is

a) 50 x10% k.cals b) 5x10% k.cals

¢).~ "1 520 k.cals | -d} 2 x 10%° k.cals.
QeuliLssTRsefd 2 e wyhseilear WerHhes Careamssd Wp&Hunral LwsTLBS)
<) Bh& el g cvsel 3) UTESI Caeotéa el

@) corGermélyen euctorBe el F) uT@D U[D;sc)suai.sfr.

Which one of the following organisms plays a vital role in pollination of trees in

tropical forest ?
a) Mimic moths b) Orchid bees
¢) Rhinoceros beetlés - d) Humming birds.

Ha aertdlos wrHpsde B Car-eaaosnTsL LwesTU@D WHoD  emow  HbyY

LDGTITL_Gu Sl @@é’@&ﬁéu S sedlareaosdler 2 saybd emeul L DT eTg) ?
) B <) B
@ B ' " oE). B

The vitamin that remains as a co-enzyme in tissue metabolism and found useful

in the process of oxidation of glucose in CNS is
al B ' b) B

e ‘B | Sy B
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L areiTgud @sw eped ghuL & sryaoioTs @)mIus)
<) gUfCGumr Qmaﬁma.q_rﬂé@mrrr‘r‘ euTévey eLMeug

3) s ehgly autdeyset SnliLig)

Q) seors sndly eurcvaysel @GG}J@]

") e;rl;rﬂ@mrr-@eusa'url.orrﬂé:@s;rrfr euTeIeSET SlDriLg).

Dubb sound of heart is caused by

a) closure of atrio-ventricular valves

b) opening of semi-lunar valves

"¢) closure of semi-lunar valves

d) ppellillg of atrio-ventricular valves.

@grTéHalisr LbpraGoplams Quiluaisases Caramin Cpril
o) Afigeflen - ; 3y) Aésten

Q) HCralerCrmi A #)  Bsedawor.
Deficiency of T'h_vroxine hormone in adults causes a syndrome called
a) Cretinism b) Rickets

c) Grave's disease d) Myxoedema.
wefgifler g BHibl_sHé 2 BeaurGb @erTiGeoT T eug gﬂgcuﬁﬁé&r 2j6Tey
9 170 — 180 &SlLit <) 1:2510.60. -
@) 125 .0l | ' F) 1 —2e&flLr.

The volume of the glomerular filtrate produced in each minute is
a) 170 — 180 litres | Bl 1%

c) 125 ml . d) 1 — 2 litres.

8240

[ mlys / Turn over



8240 | 12

9.

10.

il

12.

UL TesNle QoL aaTLms (UL Laturses Gsres Gamifl @b

<) Sgmor - %) Qlev&auniTiest
@) UVleerOuoerd gré ' F) &mieiey.
Peacomb is one of the irr'lport'ant breed characters of

a) Brahma b) Leghorn -
.¢) Plymouth rock d) Corinsh.

@ et Lssoremevondiies 11% @)Lt &STHEGD Gerd

3) @mﬂ@u@éﬁ,&)&a &6 S)) HTDDRGTE G6NDd
@) 2 hHusdlé Gend F) euenlié @emib.
11% area of fish-farming ié occupied by

a) Breeding i)ond b) Nursery pond

c) Production pond _ d) . Rearing pond.
sifedler Qewaumen & HeTTLDIW 2_Sab jemey

<) QO @ = <) P 3o

@) S s g k) R Sjoe.

.................... is a guide to the activity of atria.

-a) @ wave b) P wave

c) S wave ' d) R wave.

89657 GO Guibum’ g HE Csemeaiurearg

2} LU WLThHDRIS 6

9y) 2 L pHuetor wrHob

@) ©CrrGurGerbaefle GeDey

#)  esl Gurlemmad odlefliy.

The factor tha{ enriches the gene pool with new modified genes is
a) Mutation

b) Somatic variation

c¢) Decrease in chromosdmes

d) Increase in cytoplasm.
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13 8240
eriéleoflur Gluevg e erebTepib LTseflureaurs wefsase ghu®@b @ambmn Crrd
S oLuTL@ . <)) STeurT
@) JGers . FF).I Caev G erediig evyLig ehv.
The disease caused in human by _the bacteria Yersinia pestis is
a) Typhoid ; b) Cholera .

c) Plague ~d) Gastroenteritis.

HBBITE STLEFE aTaTaib &@D LTSt ejﬁ}U@;i_;gjeug,J

<)  UemrevCuomguib ereuairéen <) Lﬁsﬁndvé’wﬁ@wib 10 Qavdhurr

@) JemrevGomguib gpBeed ®)  lemrevQumguib osLmevdGLirih.
Black water fever which is a very serious infection, is caused 5y

a) Plasmodium vivax _ _ b) Plasmodium malariae

¢) Plasmodium ovale d) Plasmodium falciparurﬁl.
weNgifléy wErg e BT WHNID &velTer &TTeCamoraasy CombnielsEn ey
) CruGLmemeuyev ey @muuml_l;q.ﬁ 1 emeurrev
@) CeauflGurer emeureny F)  eTLienlg 65T L LY.
Jaundice and hepatic carcinoma are caused in human by

a) Rhadbo virus b) Hepatitis-B virus _

c) Variola virus d) Epstein-Barr virus.

anrge sl& CemELliyser SHTeooTILIHID L&S)

Q) Blandi wgéfler sMTOLEM UGS &) ©swallear &TTOL&a LGS
@) dleoidi (wig&dlat QuRaer LGS 5) evswedler Qu@dar LGS
The Hassall's corpuscles are seen in

a) Cortex of lymph nodes | b) Cortex of thymus

c) Medulla of lymph nodes : d) Medulla of thymus.

[ iBriys / Turn over
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17.

18.

] O

20.

21.

22,

23.

2

fley - 2 / SECTION - B

&oliy : aeeCuaind oL@ elass@pée wlGh el weiibaanyb.

Note: Answer any eight questions.. ' : - 8x3 =24

By Gurefur gefis ‘mnmé&sﬂe&r SreTlGhSeT wremel ?

What are the symptoms an-d signs of Pneumonia .‘?

& GO0 60) G50T urrgja,rrugg,foarrmr gGeeIbd cpeTh) @m@&ﬁﬁ wreney ?
Suggest a;ly three methods for eye care.

e Gledeuans aenitiiL| ereTDTey arebTea 2

What do you mean by ‘Diploid cell strain’ ?

LDGEoTEOBT T EOl6dT LIGToTl &l WTeneu ?

What are th_e functions of spleeﬁ % :

UGsTamieyeDOID - eUEILD).

Define Opsonisation.

&CrrCurCsmb GlerelL cueoLiL SSle0T gBTeLg) G\ LWeTEE WTEme 7
Mention any two uses of Karyotyping.

wyLl Qurplflwedles @éaﬁluﬁ&;@mfﬁ APETD) Tl

Give any three scopés of genetic erigineering.

Bl deflCuren @ afles s76) Uoasapsera 2 flow Bloaunsenmss shEIUGE0

W& ETELD Hleneikis sl WTena 2

What are the premier institutes considered as the authorities in the nucleotide

sequence databases ? -
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28.

29

30.
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Camedr @&pm&mws\)_mmﬂg@é@ @f[ﬁu@{b &&TeMTE CaMsHel uremea 7
What are the effects of ozone depletion on human health ?
Qeuetlfles seliy GaiQUBSSHD aepTe erare 2
What do you mean by outbreeding ?
SDUIL L L CLr@urlymiidiesr Lwestamer gCaeDd epesidleanct (L8
Write any three uses of CT scanner.
s&bae U Nowsse eampTe aere 2
What is meant by survival of the fittest ?

Uifley - @) / SECTION - C

el - gGseb apery elaTésarsE leoLwel.  @eubmet aflemr oo 31-66
seong LILTs ellawelléss Coueor@®in.

Note : Answer any three questions inciudiﬁg Question No. 31 which is
compulsory. 3 X5 =15

@B Qusss ST 6 Comermiseud, UTaBaID LDBIS sam.
Explain the origin and conduction of heartbeat.
Crmyséladiler saaabliyser uremeu 2

What are the pathogenic adaptations of microbes ?
Fyric. (L Eniiy )m@ﬂﬁ]e&n allew 6ey a6l WiTemeu 2

Write the symptoms of Graft rcjection.

@Ceamein  Qeipenlar ussd &rihs Urssomaser, peTawser, Sowser

wremey ?
What are the ethical issues, merits and demerits of cloning ?

&CrrGurGeard Sppsdl upmd aleuf.

- Explain chromosomal aberrations.

[ Hlpiys / Turn over
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Ifley - & /| SECTION - D

el : seaiCugib Gree® elaiméeEnsd @b allen_wef).

Note : Answer any two questions. 2x 10 =20

34. ApieLle HeoL Cumbd @grﬂ_&,g;—ei? @aagpcqé,smm aﬂaré;&;eqin.
Explaﬂn the digestive process ta#mg place in small intestine.
35. wrgelmi argpr,'r)é]ﬁeé'r Blem eu& 6l [_II_'D!ﬂ Seré@s.
Write an essay on menstrual cycle.
36. @LILT® s®b &Plasafler Gma;rrs;c‘m@w@w aﬁlsﬁrﬂ. .
E:;:plain the management of hazardous wastes.

37. S&r cuertille oSS wrees 7 eUeTTUUSE LWSTLESSIU@D  BedTs el et

Lagoiyseer alleurl.

What are the categories of fish farming ? Explain the characters of cultivable fish.




